1. Per our class discussion; what the three most important characteristics of a project manager are?

(a)

(b)

(c)

2. Compute B/C of the following project (MARR = 12%)
Year	0	1	2	3	4	
           -100    -200       200      200        200





	


3(a) What are the three goals of projects.

3(b) What does it mean for a project to be overdetermined?


4(a) What advantages are lost if the sum of the weights in a weighed scoring approach is 850?

4(b) What advantages are lost  in a weighed scoring approach if the weighs of the items are 1,23, 27,3,2, 44. 
image1.emf
Year6%8%10%12%14%16%

10.940.930.910.890.880.86

20.890.860.830.800.770.74

30.840.790.750.710.670.64

40.790.740.680.640.590.55

50.750.680.620.570.520.48

60.700.630.560.510.460.41

70.670.580.510.450.400.35

80.630.540.470.400.350.31

90.590.500.420.360.310.26

100.560.460.390.320.270.23
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		Year		6%		8%		10%		12%		14%		16%		18%		20%		22%		24%		26%

		1		0.94		0.93		0.91		0.89		0.88		0.86		0.847458		0.833333		0.819672		0.806452		0.793651

		2		0.89		0.86		0.83		0.80		0.77		0.74		0.718184		0.694444		0.671862		0.650364		0.629882

		3		0.84		0.79		0.75		0.71		0.67		0.64		0.608631		0.578704		0.550707		0.524487		0.499906

		4		0.79		0.74		0.68		0.64		0.59		0.55		0.515789		0.482253		0.451399		0.422974		0.396751

		5		0.75		0.68		0.62		0.57		0.52		0.48		0.437109		0.401878		0.369999		0.341108		0.314882

		6		0.70		0.63		0.56		0.51		0.46		0.41		0.370432		0.334898		0.303278		0.275087		0.249906

		7		0.67		0.58		0.51		0.45		0.40		0.35		0.313925		0.279082		0.248589		0.221844		0.198338

		8		0.63		0.54		0.47		0.40		0.35		0.31		0.266038		0.232568		0.203761		0.178907		0.157411

		9		0.59		0.50		0.42		0.36		0.31		0.26		0.225456		0.193807		0.167017		0.144280		0.124930

		10		0.56		0.46		0.39		0.32		0.27		0.23		0.191064		0.161506		0.136899		0.116354		0.099150
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